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B C D E F G H K L
1
2 TiExR
3 nES=] Al BRH EH e fa itz &5t
4 ekt 573188 358912 617795 534549 473771 367693 IR 2,925,908
b 10000 57 35 61 53 47 36 289 2,890,000
6 5000 0 1 1 0 0 1 3 15,000
7 1000 3 3 2 4 3 2 17 17,000
8 500 0 1 1 1 1 1 5 2,500
9 100 1 4 2 0 2 1 10 1,000
10 50 1 0 1 0 1 1 4 200
11 10 3 1 4 4 2 4 18 180
12 5 1 0 1 1 0 0 3 15
13 1 3 2 0 4 1 3 13 13
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2 B
3 eSS Ly B EH
4 KK (573188 358912 617795
5 10000 |=ROUNDDOWN(C4/$B$5,0) —ROUNDDOWN(D4/$B$5,0) =ROUNDDOWN(E4/$B$5,0)
6 5000 |=ROUNDDOWN(MOD(C$4,$B5)/$B6,0) —=ROUNDDOWN(MOD(D$4,$B5)/$B6,0) —=ROUNDDOWN(MOD(E$4,$B5)/$B6,0)
7 1000 |[=ROUNDDOWN(MOD(C$4,$B6)/$B7,0) =ROUNDDOWN(MOD(D$4,$B6)/$B7,0) —ROUNDDOWN(MOD(E$4,$B6)/$B7,0)
8 500  |=ROUNDDOWN(MOD(C$4,$B7)/$B8,0) —=ROUNDDOWN(MOD(D$4,$B7)/$B8,0) —=ROUNDDOWN(MOD(E$4,$B7)/$B8,0)
9 100 |[=ROUNDDOWN(MOD(C$4,$B8)/$B9,0) =ROUNDDOWN(MOD(D$4,$B8)/$B9,0) =ROUNDDOWN(MOD(E$4,$B8)/$B9,0)
10| |50 =ROUNDDOWN(MOD(C$4,$B9)/$810,0) —=ROUNDDOWN(MOD(D$4,$B9)/$B10,0) =ROUNDDOWN(MOD(E$4,$B9)/$B10,0)
11| (10 ~ROUNDDOWN(MOD(C$4,$810)/$B11,0) —=ROUNDDOWN(MOD(D$4,$B10)/$B11,0) =ROUNDDOWN(MOD(E$4,$B10)/$B11,0)
12| |5 —ROUNDDOWN(MOD(C$4,$B11)/$B12,0) —ROUNDDOWN(MOD(D$4,$B11)/$B12,0) —=ROUNDDOWN(MOD(E$4,$B11)/$B12,0)
13| |1 ~ROUNDDOWN(MOD(C$4,$B12)/$B13,0) —=ROUNDDOWN(MOD(D$4,$B12)/$B13,0) =ROUNDDOWN(MOD(E$4,$B12)/$B13,0)
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4 534549 473771 367693 ##|  [=SUM(C4:Ha)
5 [=ROUNDDOWN(F4/$B$5,0) ~ROUNDDOWN (G4/$B$5,0) =ROUNDDOWN (H4/$B$5,0) =SUM(C5:H5) =B5*I5
6 |=ROUNDDOWN(MOD(F$4,5B5)/$86,0) —ROUNDDOWN(MOD(G$4,$B5)/$B6,0) —ROUNDDOWN (MOD(H$4,5B5)/$B6,0) =SUM(C6:H6) —B6*16
7 [=ROUNDDOWN(MOD(F$4,$86)/$B7,0) —ROUNDDOWN(MOD(G$4,$B6)/$B7,0) ~ROUNDDOWN(MOD(H$4,$B6)/$B7.,0) =SUM(CT:H7) =B7*17
8 |=ROUNDDOWN(MOD(F$4,$B7)/$B8,0) —ROUNDDOWN(MOD(G$4,$B87)/$B8,0) —ROUNDDOWN(MOD(H$4,5B7)/$B8,0) =SUM(C8:H8) —B8*I8
9 [=ROUNDDOWN(MOD(F$4,$88)/$B9,0) —ROUNDDOWN(MOD(G$4,5B8)/$B9,0) ~ROUNDDOWN(MOD(H$4,$B8)/$B9,0) =SUM(C9:H9) =B9*19
10 [=ROUNDDOWN(MOD(F$4,$B9)/$B10,0) —ROUNDDOWN(MOD(G$4,$89)/$810,0) —ROUNDDOWN (MOD(H$4,5B9)/$B10,0) —SUM(C10:H10) —B10*110
11 [=ROUNDDOWN(MOD(F$4,$B10)/$B11,0) —ROUNDDOWN(MOD(G$4,$810)/$B11,0) —ROUNDDOWN(MOD(H$4,$B10)/$B11,0) =SUM(C11:H11) =B11%I11
12 [=ROUNDDOWN(MOD(F$4,$B11)/$B12,0) —ROUNDDOWN(MOD(G$4,$B11)/$B12,0) —ROUNDDOWN(MOD(H$4,$B11)/$B12,0) —SUM(C12:H12) —B12*I12
13 [=ROUNDDOWN(MOD(F$4,$B12)/$B13,0) —ROUNDDOWN(MOD(G$4,$B12)/$B13,0) —ROUNDDOWN(MOD(H$4,$B12)/$B13,0) =SUM(C13:H13) =B13*I13
14
15
16




